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November 24th Due Next Class: TEST

Get Ready: TEST ON MONDAY

Sam cuts a 10 m rope into two pieces.
How long is the longer piece?

How long 1s the shorter piece?
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Mr. Rogers is ing_‘sc/ne cookies forhis advisory. m
He has already spent $9 on supplies but would
also like to get candy. He doesn't want to spend

more than $23 on all of the treats. If each bag of
candy costs $1.25, then what is the most number
of bags that Mr. Rogers can buy?
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‘What does it mean for a point to be a

solution to a linear inequality?

2,
@.'Hr\'ln e c)e
or oN “Nl

l/\)l'wr\? 5ec) .0\—0%

st M e
—> transfrm NEEEN
¥§>3;3TX\ Slc%{e(c*l — ::q Uz
S B e
3

Line \\hading

So i c)
Dowglred

NN

2l Abowe
S Below
©.n 20y (3D

5>3XH 3>3x+] 373x+\
153©0)r) 072D oy
NS -+ —~



	Page 1: Aug 9-11:10 PM
	Page 2: Nov 19-11:14 AM

